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Note :This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed

instructions given therein. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be issued.

  



        

         

       
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Section–A / 

(Long Answer Type Questions) /    

Note :Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. Compare and contrast the definition of Economics

as given by Marshall of Robbins. Which definition

do you prefer and why?

        

     

2. Critically examine Arrows Impossibility theorem.

      

 

3. Explain the law of equi-marginal utility. Discuss the

importance and limitations of this law?
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        

     

4. Define "Price elasticity of demand." Distinguish

between "Point elasticity" and "Arc Elasticity" and

discuss the method of measuring both of them.



  

    

5. Explain how the consumer reaches equilibrium in

terms of indifference curve analysis. Why must the

point of tangency between indifference curve and

the price line alone be the point of equilibrium?

     

 



  

Section–B / 

(Short-Answer-Type Questions) /    

Note :Section ‘B’ contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are
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required to answer any Four (04) questions only.

(4×8=32)

    (08)      

      (08)   

  (04)  

 

1. Why micro economics is called Price Theory and

macro economics Income Theory.

       

     

2. Explain the concept of General Equilibrium

Analysis.



3. Write a note on Scitovosky Double criterion.

      

4. The law of demand is valid only if demand does not

change Ellaborate.



  
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5. Explain the income elasticity of demand.

      

6. Illustrate Marshall's measure of consumer's surplus.



 

7. What are the Indifference curves? Discuss their uses

in economics.

        

  

8. What is an income consumption curve? What does

its shape indicate about the nature of a commodity?

         

     

***************
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